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Q.No: 1 Botanical name of jowar is TR &l ATATITIHR ATH &

a) Sorghum helpanse IREH geded
b) Vigna radiata f@3=T If3wer
c) Sorghum bicolor TREH TETR

d) Eleusine corcana $c*€4(\f€iu-| CARCar|

Correct Ans : C
Q.No: 2 Indian Institute of Maize Research is located at I FHeFehl 3103(-i‘ulo-| qrad Tud §

A Hyaderabad CRACIC
B Nagpuro_-l'l?TgT

C Ludhiyana Q’@'QHT
D Jaipura'a'g'\"

Correct Ans : B
Q.No: 3 Root rot of cotton disease is caused by hITH & CEKICG] 9T HILHIOT %’

A Virus fasmor

B Funj chdeh

C Bacteria Gﬁ'crl'U;I'

D Pink boll worm ﬂﬁl‘sﬁ ﬁ(\é‘rc

orrect Ans : B

Q.No: 4 S.R.l. Concept is increasing productivity of ricedby‘changing management of?

T 3R 3$ TUROT hded Tt I qgerhd "idel T 3caigehdl Sol &7 872
A. Water . 9Tt

B. Plant . OieIT
C. Soil and nutrient 3=|:c'\T Ud QSR> dca

C.AOnly Ashdd A

B Only Bhael B

COnlyAand Cahael A3 C
DAIIA Band CHHT A, B3R C

Correct Ans : D
Q.No: 5 Maximum soybean producing state isGIITdleT I Ja& ¥ 3G el arell ol g-
A Punjab gl

B Madhya Pradesh HEIYCRT

Head Office : (1) VASNAVI DARBAR,NEAR BANK OF MAHARASTRA, MORAR ROAD,GOLE KA MANDIR- 0751-4723909
: (2) 12- MLB COLONY,OPP.MISS HILL SCHOOL, PADAV LASAKAR GWALIOR (M. P.) 0751-4910670
Call us : Mob : 8889593108, 8109093108, 8819959108 Dir-Mr. SATENDRA SINGH



SCI ajﬁ' HEYTA-7qT o] PAT/CUET-ICAR/IET/UPCATET | | diars No.1 Agriculture Coaching
TOPIC- MPPAT -2023 (Ag-1,2,3) Y our success s our mission An IS0 9001:2015 Certified Institute

C Maharashtra #gRTSE
D Karnataka Sheilceh

Correct Ans : B
Q.No: 6 Which is not a advantage of crop rotation? T & O 9 ®OdT Ih FT ATH a‘-@f %’?

A Control of weeds @ITAARI &l fAIFoT
B Control of insect and diseases @l Td SIATRAT T fAIF0T

C Decrease soil fertility 3T 39T H HeAr
D Increase in crop yield BHAT & 39T & qafﬁ

Correct Ans : C

Q.No: 7 Growing of two or more crops together by mixing on a piece of land is known as«@eh gL T&d H Us 1Y ar a7
ar ¥ 3 BT & dell Bl AR SNl gl &
A Intercropping 3T AT

B Intensive cropping G4e] AETT
C Mixed cropping fAfST gt
D Crop rotation el dsh

Correct Ans: C

Q.No: 8 Til + Bajra — Fallow — Fallow crop rotation is a example of: Tl + SToRT - Gl - Wl T 3Gl &
A Inter cropping 3T AEIT

B Mixed cropping RTAT a&a=T

C Relay cropping 3o Rl

D Paira cropping 3ol &I

Correct Ans : B

Q.No: 9 Which of the followifig cropiis,different from the other three on the basis of cropping season? Bl & *kd &
IR W fArfaf@d & 8 ald wad 37 3T § fea g2
A Wheat?ﬁE
B Mustard T3&r
C Chickpea T
D Bajra §TalT

Correct Ans : D
Q.No: 10 Crop grown to protect the main crop from vagaries of nature and also to render support to the crop is known

as: HET BHel & Yehid I AAIATAN & T2 3R ATT HH HI TRI &l & AT 30 Sl dTell ool
hgellcl &
AIntercropﬁHTW

B Nurse crop aé hdcl
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C Alley crop Tell Hdel
D Trap crop $Ie 3PN B

Correct Ans: B
Q.No: 11 Which of the following is not a soil cover crop? faeat & & it el ARETh HHel el &

A Black gram 3

B Soybean JIATS I
C Guar 7diX¥

D Maize Herehl

Correct Ans: D
Q.No: 12 Major objectives of surveying is
1. To prepare map 2. To prepare irrigation channel and canal

HAGTOT & GHT 36827 -
1. RN S ¥ 2. AT A v A a3
A Only 13hddl 1
B Only 2 shadl 2
CBoth 1and 2 @It 1T 2
D Neither 1and 2 @ 13iR & i?f 2
Correct Ans : C
Q.No: 13 2404097 Largest length of the line preparedduring survey Si\-ﬂé&TUT & AT e ol @7 18

ST &
A Base line 3ITYR T@T
B Check line SdTeT 3&@T

C Tie line TS ¥@T
D General line TTATIARET

Correct Ans : A
Q.No: 14 2404122 Frostand\low temperature are controlled in orchard by-
A. By smoke-screen B. By Irrigation C. By Fertilizer

T F urer 3R [T ag Fafera Far aar §-
A. €U & 31RO Y B. &S @ C. 3R @

ABothBand CB3X Car &
BBothAand CA3R Cca=t &
CBothAand BA 3R Beer &

D Only C&haedl C

Correct Ans: C

Q.No: 15 Major function of mulching in orchard is

A. Reduced weed problems B. Protect high temp and light C. Conserve soil moisture
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I # goaR o a1 7e7 #18 §
A. TRYTART &I TAEIT & HH AT B. 38 A9 Td Yehrer & FI&T C. HeT T HT FI&ToT
A Only Ashael A
B Only B &hael
BCOnlyAand Cahad A3 C

DAIIA, Band CESY A, B3R C
Correct Ans : D
Q.No: 16 Application of liquid fertilizer with irrigation water is called- f&a1$ ST & H1Y gorereliel JaTh! &

ST @l FEd b-

A Chemigation saTaTreT

B Fertigation HeTaereT

C Micro irrigation g&31 T&aTs

D Drip Irrigation Tush f&=ms

Correct Ans : B

Q.No: 17 Top working is mostly used for rejuvenation ofgeraifaeiieur’gd RIG (avT wrr: 3wzl §
A Mango 3TH

B Papaya 9ddr

C Grape 379X

D Pomegranate 3«

Correct Ans: A

Q.No: 18 Rejuvenation in unproductive orchard can'be done by- 3ieIcdresh ST T Gef: 3cUTeeh ST ST
gehdl § —

A Proper pruning 3T @e-Bic &

B Proper nutrition 3/Rd dvor &

C Properirrigation and Drainage 3 f{dis tg s @ &

D All of above 39 Hsfr

Correct Ans: D
Q.No: 19 The Indian Institute of Vegetable Research is situated at#fRclid Heoll 3lET HEAUE EUT 8-

A Varanasi aRTOTEY

B Bengaluru §arer®

C New Delhi 718 el
D Hyderabad ge31dTe

Correct Ans : A
Q.No: Optimum area required for a normal kitchen gardenTer THT (WS TX & v 3HTd &awa T

maegsak gS
A~ 100-150m?
B 200 -250m?
¢ 300-400m?

. None of the above“o"q?fﬁl-?r #q FIS A8

Correct Ans : B

Q.No: 21 Optimum seed rate of radish per hectare¥ell &I Sscdd el aX Ui geFeaqT §- A5 -8kg5 - 8 fohar
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B7-8kg7-8TfRam
C 20— 25 kg 20 - 25 farr
D 10-12 kg 10 - 12 fRamw
Correct Ans: D
Q.No: 22 Botanical name of carrot is3eR &T dTEITdd AT &-
A Daucus carota L. 3T FRIeT Td.
B Capsicum annum L. hiCH&®H T Tel.
C Raphanus sativas L Y®E Tersad Td.
D Brassica rapa L. ST&er AT Tel.
Correct Ans : A
Q.No: 23 “Pusa Kesar” belongs to which species? GHT &R fh& Y@ YSilidl &l &
A Brinjal da1eT
B Tomato CHTEY
C Carrot 9o}
D Cauliflower Beraiefy

Correct Ans: C

Q.No: 24 Pungency is chilliis due to {8 & @ g9 FT FRUL &
A Thaimeine JrIHTT

B Curcunim FIFgfAe

C Capsaicin Heaf&sT

D Alyle Propyle disulphide Tforel Miursel SI5TeHISs

Correct Ans: C

Q.No: 25 Solanum tuberosum is the botahical hame of - Gl TYSRIEH TS ATH §-
A Tomato CHIEY

B Potato 3iTe]

C Chilli fA=r

D Radish #[eir

Correct Ans : B

Q.No: 26 How many.grams of fruit does a person need per day? 9fafee cafFd HI Tohdel ATH Hel FHI IFTTTHAT
g &2

A 100

B 200

C 300

D 400

Correct Ans: D

Q.No: 27 What plants use budding propagation? &l & Gitl Adlfgd JER FTI 3GIRT HIAT &
A Ash Fe7sT

B Black gum el JTicalt

C Golden Chain g et

D All of the given options fgT 31T @sft fashea

Correct Ans: D

Q.No: 28 Mango is mostly propagated by 3T wI: Y&ETRdT fovam Srar &

A Inarching S=Tf=iaT
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B Cutting el
C Budding s foreraeT
D Layering greT fafer
Correct Ans: A
Q.No: 29 Optimum length of stem cutting isdall &l &r AT =TS BT &-
A5-10cm5-10 §T
B 30— 45 cm 30 - 45 @
C10-30cm 10 - 30 &#Y
D None of the given options T 31T Asedlr H & HIg g1

Correct Ans: C

Q.No: 30 Kagaji lime is mostly propagated by @rarsil #igsit EgAAT T q yaTid fhar arar §
A Grafting FImfreaT

B Hard stem cutting R dall el

C Budding §f3aT

D Air layering TaRX oIgTaT

Correct Ans: D

Q.No: 31 Example of monocotyledon fruit is . ThaTolqal el Pl 3GTgI0T gl
A Guava 3HEG

B Mango 31TH

C Banana shell

D Lemon wisei §

Correct Ans: C

Q.No: 32 Training method of grape is3RQFAFESHH fer §-

A Head System g8 Tafer

B Arbour or Pergola 9sTel IT G3Tol

C Kniffen system faifther fater

D All of above 3RIFd Ti

Correct Ans: D

Q.No: 33 Alternate bearing is major problem ofUshlecl Hhelel Teh THE HAETIT g-
A Guava 3H&G_H

B Mango 3T& &

C Lemon et §&F

D Banana %ell &

Correct Ans : B

Q.No: 34 ‘Amarapali’ is an important variety of 3iT&dTell Tdh H%F:IH;U‘T gt g-
A Mango 3TH

B Pomegranate 311X

C Grape 379¥

D Papaya 9dtdr

Correct Ans : A

Q.No: 35 Kinnow is an important variety of- fhe=il Teh 9Hq@ FoTifel &-

A Lemon o#HT
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B Lime siisi &
C Mandarin "ol
D None of above 3RIed & HS AgT
Correct Ans: C
Q.No: 36 Fruit Product order was started in India¥Rd & Hel 3cdTg 3TSRr SIE) §3-1T -
A 1920 1920
B 1945 1945
C 1950 1950

D 1955 1955
Correct Ans: D

Q.No: 37 Which vegetable is used in canning? f3sdTawcr & it Tsoil AET HI AT §7?
A Pea AXY

B Cauliflower Geraneft

C Carrot 9o}

D All of the above 3Taa AT
Correct Ans : A

Q.No: 38 During bottling the optimum concentration of sugar syrup is SidellehoT & HHT AR ATAT Hr A
Hlegdl gial &

A 5-10 percent 5 - 10 wfaerd

B 10 — 20 percent 10 - 20 ¥fa=rd

C 20 — 25 percent 20 - 25 gfard

D 25 — 50 percent 25 - 50 gfaerd
Correct Ans: D

Q.No: 39 Who gives informations regdrding agricultural and processed food export in India? {Ra & agﬁr g
TEEDT Wed 371G [T FFatSTAbRT Hled Teked T §?
A ICAR 38,91 T.31R.
B APEDA tfdsr
C NHB Te. T 4.
D NABARD #TaTS
Correct Ans : B
Q.No: 40 Forireffigeration the optimum range of temperature is- SRiidiel & AT 3ugeFd dTIATT Eelm 8-
A. 0-5°
B. -1-0°c
C. 5-10°c
D. -1-1°

Q.No: 41 Where is the head quarter of NABARD? AT &7 LRCRICE] %:f e %’?
A New Delhi Hé’ oot

B Mumbai ﬂﬁé

C Nagpuro_-I'I?TEI,T

D Bangluru W
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Correct Ans : B
Q.No: 42 National Institute of Agricultural Marketing (NIAM) is located at!lsé,\l E2) EI‘:T'I:EI' o geueT ua

AJaipurEPZI'gT

B RaipurTl?Il'Ele

C Nagpura_-I'I?TEl’T

D Ahmadabad 3gHcIdIc,

Correct Ans : A
Q.No: 43 Which of the following pathotypes is the most pathogenic? e faif@d & & PlT-ar thﬁagcr

(QergEeh) Hed 3fUE Qarsletsh g?

A Neurotropic velogenic W RERCCIIGE

B Mesogenic aaefas

C Lentogenic EESIGED

D Viscerotropic velogenic ﬁ@frﬁr O adiafas

Correct Ans: D
Q.No: 44 Maize is a major source of for pouItry.ﬂ?ﬁ' qlole] o ToIT Heehr ol Uch EDEI;@ g %\'I

A Energy Foll

B Disease 14T

C Toxin faw

D Pesticide shicaiTereh

Correct Ans: A
Q.No: 45 Birds over 18 weeks.of age are reared in18 Icdig & 3+ g & gferdt sl 9reT ST 2-

A Brooder House s[ST(RI3H
B Grower House I3 gI3H
C Layer House SRRy a134d

D Broiler House ST} g3y

Correct Ans: C

Q.No: 46 The long axis of the poultry house should bein __ direction. tﬁ@ g3 &1 odr g‘i‘r -
f&em # gielr =nfgul

A East-West q’\é‘-m

B North-south 30%-G&oT

C South-East E{fﬁ'UT-q‘\é'

D North-West 3a3-9fea#H

Correct Ans : A
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Q.No: 47 Which of the following is not an advantage of deep litter system? &A@ H ¥ *id 39 o

Aeca Fr ey SIET g
A Vitamin B, and Bi.are available in the litter material due to bacterial actior thok.kq fdz;k ds dkj.k dwMs dh
Ikexzh esa foVkfeu ch2 vkSj ch12 miyX/k gSa

B The deep litter manure is a useful fertilizer 319 foleX &r @Ig T 3TN 3dh §

C Faults in ventilation is not a big concern in deep litter system 319 ToleX ATecH & dfed ofered H ey Elflé'
a3 Rfar 767 ¢

D Lesser nuisance from the flies as compared to cage system TUoIX JOTeIl T Jeledl 7 AfFEar @ &9 3uga

Correct Ans: C
Q.No: 48 What should be the optimal level of ammonia for rearing broilers? IR GicleT & forw 3mfaar &

sSedH TR fohder g anfgue
A Less than 25 ppm 25 UTdTH & &HH
B More than 25 ppm 25 Uit & 318«
C Less than 50 ppm 50 9THITH & &
D More than 50 ppm 50 9I9TTH & 3186

Correct Ans : A

Q.No: 49 A product made from curd by coagulating'the casein with the help of rennet or similar enzymes in the
presence of lactic acid produced by added or adventitious microarganisms, from which part of the moisture has been
removed by cutting, cooking and/or pressing, whichdasbeen shaped in a mould and then ripened by holding it for some

time at suitable temperature and humidity is called as:ﬁ?@%ﬂ FT FTHATRT gel § el Ush 3¢9l e ar S?ﬁ e
& USTSAT d Age & e A1 ATARFAHEEAMNE GarT 3caried dfdfes Ths $ 3ufeufad # = m S g,
fSad @ 7 & REQ A Fea), YAl 3 &= @ ger fear Sidr &, 98 v a7 3R fer Srer § 3R
i 38 3UgFT A9AE R FMEANT FS FAT & [T Ghsehy e ST &, FT FHgelldl &:

A Cheese ST

B Paneer Jal{

C Butter A YT

D Ghee ©Y
Correct Ans : A
Q.No: 50 What is the milk Fat percentage in cream? S & GAl & gar Fr gfaerd 4T §?
20— 95 %o
15 — 88 %o
10 — 30 %o
99 %o
Correct Ans: C
Q.No: 51 The percentage of water in cream is: 'H?fl'lé' H 9= &7 9iaed &
45.45 — 68.2 %o
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40.42 — 78 %o

58 %o

68 %o

Correct Ans : A

Q.No: 52 Butter is principally composed of milk , , and CHFYeT HET ¥ a
A3} , , AR ¥ a1 g gl

A Fat, Moisture, Sugar and Cream ddTI, el QEIT 3R ?FIFTI?I
B Fat, Moisture, Salt and Cream I&T, JHT, AHH IR ?Fl?fl'lé»'

C Milk, Moisture, Lipid and Cream @4, 741, fafgs 3R FlT*ITé'
D Fat, Moisture, Salt and Curd T, AHT, dH% 3R a'é‘r

Correct Ans: D

Q.No: 53 Milk powder containing moisture in percentage is: 913s{ g H T+ 9faera &
A5 percent or more than 55 gfaerda ar 5 3 ¥+

B 5 percent or less than 5 5 ITIrT AT 5 &el

C 8 percent or less than 8 8 gfaerd ar s q &

D 8 percent or more than 8 8 Afderd a1 8 ¥+

Correct Ans: B

Q.No: 54 Fat percentage in commercial Butter is: ITaalAe HFEAT H JaT Ffard &
A Approx 80% eldTHdIT 80%
B Approx 90% oI9TdIT 90%
C Approx 60% oTeTHIT 60%
D Approx 70% eldTHIT 70%

Correct Ans : A

Q.No: 55 HATS H FANHT Tfererd FHI T@TIHh TIAT ¢

A. 50-60%

B. 25-60%

C. 80%

D. 90 %
Correct Ans: B

Q.No: 56 SNF %o of cream is, FATS HI TH.TA.TH. Ffaerd g

A. 455-6.80%
B. 5.55-6.60%
C. 6.60-7.68%
D. 6.60-7.88%
Correct Ans: A

Q.No: 57 Ankaleshwar is a famous breed of37/&el?a¥ e AEITd AT %’-
A Fish AGell
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B Chicken #31T

C Goose ETT
D Duck sdd

Correct Ans: B

Q.No: 58 Which of the following is not a part of poultry farming? [Feafeif@a H T Pl '{l;-fﬁ' qrelel T fe&dr =gl g?
A Goose 6?

B Duck S

C Chicken T’I‘I’

D Goat ST

Correct Ans: D

Q.No: 59 What is the last step of commercial hatchery operation? FARTT &Y TR & 37T TROT Fa1 &?
A Incubation 3¢ del

B Storage $7SRUT

C Grading AofreoT

D Vaccination CIehTehoT

Correct Ans: D

Q.No: 60 Which of the following is the first stock in a PoultryiBreeding Organization? ?Tﬁ qrele] HeTad | [T
H q FeT AT TEAT Tl §?

A Pureline Stock TORATSA Tih

B Grand Parent Stock 38 We ¥l
C Parent Stock e Tl

D Commercials Stock AT Teleh

Correct Ans: A
Q.No: 61 Which of the following farm of feed is exposed to heat treatment during preparation? faf@a & @ sia

T HIE R Fd FHTNSSHAT 3UAR & 96 H 37T g7
A Mash feed #HeT HIg

B Pellet feed Uoic IS

C Mince feed fR=T HIg

D Crumbles sh&dedH

Correct Ans: B

Q.No: 62 Which of the following factors is not important in hatching? &l @d # & FiT T FRS g (31?
V) A Agcaqur FET §?

A Turning €fo1aT
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B Position TeYfer
C Temperature dl9HATT
D Relative humidity 9T9&T TG

Correct Ans: A

Q.No: 63 Milk is a complex chemical substance in which fat is present in the form of an ,___and matter in

the colloidal state and lactose with some minerals and soluble proteins in the form of a true solution. g Teh IGIEGH
T wEry § A aar v, 3 & &G # FHlelssd a1 A Hlgg 8iar § 3R deels
& WY $ Giotel IR Telerelicl M Toh Fea &l & &7 H gid g

A Amino acid, Protein, and Fat AT Uﬁl’s’, WéT 3R gar

B Emulsion, protein, and some mineral el (ITIH), WerT 3R PO gfast

C Lactose, mineral, and Sucrose <:1\¢c\|o1, {slfo\101, 3R gsh\ld

D Fat, Protein, and Lactose @@T, Widla 3iR olgelat

Correct Ans : B
Q.No: 64 What is the full form of SNF? TH.UaT.UH. (SNF) T Tﬁ' O FI16?

A Solid Nitrogen Fluid Gifels T3Sl STe Fo[3S
B Skimmed Nitrogen Fat &g Fl'l%?f ST e
C Solids Not Fat Affersd siic the

D Skimmed Not Fat f&he3 sl the

Correct Ans: C
Q.No: 65 What is the minimum percentageofSNFin Buffalo milk? o & G\l H THUATH (SNF) &1 eoldH gfererd

fehetetr g1em &

A7
B8
CH9
D6
Correct Ans: C

Q.No: 66 Principal proteifwin milk is?E;\‘ET p= FFJEIDE' e %’?
A Casein &t

B Lysine Fl'léGﬁ?-l'

C Leucine @Rﬁ'ﬂ

D Sucrose Hjﬁlﬁ

Correct Ans: A

Q.No: 67 Which is a primary carbohydrate of milk? E;\‘ET FT grIAs chlsflr6|$§c il @T %’?
A Lactose ofFelsT
B Sucrose '\'flaT,:IfIE'
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C Fructose WheFcIoT

D Arginine 39T
Correct Ans : A
Q.No: 68 Factors affecting Composition of Milk are? ¢ Fr TGTIAT A FHATTAT FIT dlel RS 8?2

A Environmental and Physiological gaTawer 3R iR
B Climatic and animal STeldryg 3R [

C Climatic and Environmental EFIE'I'{I; 3 gITaRoT
D Physical and Physiological #ifae 3R emiiRes

Correct Ans: A
Q.No: 69 How long is the gestation period of a cow. 9T hl IstpreT fopaer feat &t Efl(-ll ?.'—

A 310 days 310 &t
B 300 days 300 f&aT
C 283 days 283 f&=T
D 292 days 292 &

Correct Ans : C

Q.No: 70 A lactometer is used to test: Teh olaFeldey fhderT TAEEL &lal & ToIT gIrer fhar SATdar %’:
A Milk &

B Water 9Tt

C Colour of Milk g& & I

D Milk protein & & Ui

Correct Ans : A

Q.No: 71 Anthrax is caused by bagteria; CollgT SFCIRAT o HIRUT BIAT &
A Pasteurella haemolytica qrENelT %ﬁﬁﬁﬁﬂ

B Clostridium chauvoei EF(‘vﬂ?ﬁ g% Eﬁa’lé

C Bacillus anthracis ST U=IHTT

D Sphaerophorus necrophorus THUBRE AhIhIRY

Correct Ans: C

Q.No: 72 The National Bureau of Animal Genetic Resources (NBAGR) is located at: IISEAI T 99 3-1T§3’f5]$ T s
(NBAGR) &gl ud &:
A Hissar, Haryana %THT, Eﬁ'ﬂTU'IT

B Avikanagar, Rajasthan 3-||fa<=hla-|dN, JToT T

C Karnal, Haryana hdTdl, Eﬁ'qTU'IT
D Jansi, UP STHT, J4Y
Correct Ans: C
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Q.No: 73 Camel has chambered rumen. 3¢ & FeT THA glal %’I

A Four ¥
B Three il
CTwoar

D Single Teh

Correct Ans : B

Q.No: 74 The beak of Duck is called as: §a@ $T A=t &r chel SITdl %’:

A Clutch sreld

B Cull shef

C Bill farer

D Dubbing 3fseT

Correct Ans: C

Q.No: 75 What is the stomach of a bird/chick called? & il % U H F Shel SITdTl %’?
A Vent d€

B Gizzard =TS

C Rumen HeT

D BellyaTsﬁ'

Correct Ans: B

Q.No: 76 What is the name of the world’s second buffalecalf? TaRa r E'{\‘Iff N 1 F1 ATH %’-
A DoIIyETF?T

B Pratham 9IH

C Garima JTR&AT

D Karan oh3eT

Correct Ans: C

Q.No: 77 World first stinfvitro fertilized, What is the name of a buffalo calf . gﬁl’!ﬂ FT Ugell 3T -faer tﬁﬁﬂ'l?-ﬁﬂ +
I63S I FIT ATH ¢

A Banni So=iT

B Karan <hieT

C Pratham 9-IH

D Swagatam EdTITdH

Correct Ans: C

Q.No: 78 What to feed cows after calving? a1l & §1¢ IMT I FIT geme?

A Feed Carbohydrate-rich fodder chlcﬁgus;sc gord NI eme
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B Meat and bone meal A 3Rk g33 &1 AT

C Oilseed press cake fddlgsT 9g FHah
D Green maize @I Hdrhl

Correct Ans: A

Q.No: 79 Which acid is required for the cattle to maintain their regular milk fat percentage? HART &1 397 AT
oY gHT YA A S0 @A & U 8 31FcT I 3TaRIehdr gl g2

A Citric Acid @Tsfea Tfas

B Sulphuric Acid Fe¥gXe TS

C Acetic Acid TRafesh Tfas

D Formic Acid ®Iféie TTAS

Correct Ans: C
Q.No: 80 Which of the following is not a common plant grown exclusively for folder? ST @d & & &l had IR

F fIT 39T FS ITAT AT GiET A8T 87

A Rye grass Tl'é’ Ut

B Wheat Ioftovers'flé & ollFe3fax

C Grass or lawn Clipping Waste 91H T el el TfRISe
D Oilseeds press cake fdelgsT 9& &

Correct Ans: B

Q.No: 81 What to feed a calf after weaning?E;\U @31?!' & dc a?r%’ T Fa1 @aerw?
A Hay @ g

B Silage f&etat

C High protein oil meals 3TT WIETal Aol doTeT

D Grass or lawn clipping waste &ITH T dAleT FHcReT 39fRISe

Correct Ans: A

Q.No: 82 What is a good'source of protein for cows? AT & fOIT GIET FT 3ToT G F41 %’?

A Corn cattle feed H'Eh_é OR[ ART
B Feed molasses 93 eme
C Alfalfa Hay 3TeWIethl T a1d
D Paddy straws &ITeT & 3{9’

Correct Ans: C
Q.No: 83 Under which of the following animal feeds, cereal grains and their by-products are classified?
(A) Concentrate foods (B) High protein meals (C) By product of sugar beets

fAFfaf@d & & fhg a3 3R, 36T 3R 37 39-3curer &t gefiehd fohar arm g2
€T Shigd @ieg verd (B) 3T W ISt (C) gohed & 3cUTe Al
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(A) AOnly (A) Fae (A)

(B) B Only (B) &daer (B)

(C) CBoth (A) and (B) gt (A) 3R (B)
(D) D Both (B) and (C) &l (B) 3iR

(C) Correct Ans : B

Q.No: 84 Which of the following is produced by drying grasses or legumes to feed the animals? KIGELC ARG
& v arg a7 Biodr @ Hefaf@d # @ Sl @1 3cdies fhar S g2

A Pasture dRIMg

B Hay &1

C Silage T&elsT

D Pasture & Silage dRTIg 3R et

Correct Ans : B

Q.No: 85 Which of the following roughage is made by packing immature plantsinyan airtight storage container and
allowing them to ferment?
(A) Silage (B) Hay (C) Straw and Hulls

et & @ i @ W IaRuera died @l v T HSROT R # b atah 3N 3¢ fohvder
AT ST ST ST B
(A) f&ersT (B) & a1d (C) ¥l 3R goq

A Only (A) dhae (A)

B Only (B) hael (B)

C Both (A) and (B) &=t (A) 31X (B)

D Both (B) and (C) al=ir (B) 31X (C)
Correct Ans : A

Q.No: 86 For economie reasons, which of the following is utilised as animal feed less frequently than in the past?
3er HRUT I, [T H @ he 3TN Gl T Jolell & HF IR Y MR & §7 # fhgr Sfrar g2
A Hay g4 =g,

B Straw and huIIsQ—‘;TU IR &g

C Silage T&rerst

D Root crops 313 HHel

Correct Ans: D
Q.No: 87 Which of the following statement(s) is/are incorrect regarding straw? A. They are low in protein and

very high in fiber. B. Digestive capacity is low. C. It is very high in nutrition. 88 & &t # efaf@d & & Sl
TN HUT T 8/87?

A.amﬁwmmﬁa@mﬁl

B. UTdeT &THdT FA gl

C. Jg dIvoT & g 3

A Only Ashder A

B Only A and B %hael A 3R B

Head Office : (1) VASNAVI DARBAR,NEAR BANK OF MAHARASTRA, MORAR ROAD,GOLE KA MANDIR- 0751-4723909
: (2) 12- MLB COLONY,OPP.MISS HILL SCHOOL, PADAV LASAKAR GWALIOR (M. P.) 0751-4910670
Call us : Mob : 8889593108, 8109093108, 8819959108 Dir-Mr. SATENDRA SINGH



SCI ajﬁ' HEATA-Tarfargy | PAT/CUET-ICAR/IET/UPCATET | 1 dias No.1 Agriculture Coaching

TOPIC- MPPAT -2023 (Ag-1,2,3) Y our success s our mission An IS0 9001:2015 Certified Institute
COnlyAand Caae A3R C

D Only C Fadl C

Correct Ans: D
Q.No: 88 Which of the following is necessary for maintenance, growth, pregnancy and lactation in adult cattle?

auEh HARGT # [WRWEME, ey, THiaedr AR geyr e & v eafai@d & @ &l a1 maas §?
A Fat adr

B Carbohydrate Fefgrsse

C Protein 9ileT

D Water 9r=iT

Correct Ans: C
Q.No: 89 Beets (mangles), rutabagas, cassava, turnips, and sometimes surplus potatoes are associated with

which of the following? ficH (HaTeH), TSI, HHATAT, Aetotd I FHel-Fefr TR 3ire] eafaf@a & @
fohass @ 33 gU &7

A Root crop ¥ Hhdel

B Straw Tt

C Silage Trerst

D Hay @I &

Correct Ans : A

Q.No: 90 Rations for milch cows are generally designed to meetitheir ___ and caloric needs. g&f Sel grelT It
& fov voet 3 d W 3ah 3R FAl T SREAp@ITU w3 & T dIR R S g

A Protein 9T

B Vitamins faerf@=

C Lipid TS

D Calcium $hferrs

Correct Ans : A

Q.No: 91 Which types of soil aré’not found in Madhya Pradesh? A& yeer & fd YR $r AT Agr U5 AT
g?
A Black Soil el fAeEr
B Red Soil oTer AT

C Arid Soil s fAET
D Peaty Soil 9f€_fRccr

Correct Ans: C
Q.No: 92 Which city is known as 'Rice Bowl! of India'? (A) Andhra Pradesh (B) Madhya Pradesh (C) Uttar Pradesh

T BT A 'HRT T TG ST HeRT gl STl 87

(A) 3TTeT T&2T (B) HEF 92T (C) 3 TeRr

A Only (A) hael (A)

B Only (B) shaer (B)

C Both (A) and (B) &= (A) 31 (B)

D Both (B) and (C) &i=it (B) 3iR

Correct Ans : A

Q.No: 93 Which state is home to the world famous Ongole cattle breed? faea Gf@etr 3iam 3t of U¥[ &€el &1 &
et &1 A7 §?
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A Haryana gR3rom
B Andhra Pradesh 311 weer
C Madhya Pradesh I w&er

D Uttar Pradesh 3% el
Correct Ans : B
Q.No: 94 Which state has won the Special Interest Group on e-Government Awards 2020? fF8 T F $-IrdetHc

3aTSd 2020 R AT o HHg St g2
A Punjab 9<Te

B Andhra Pradesh 31Ter ucer

C Madhya Pradesh #&T 9car

D Uttar Pradesh 3@% 9car

Correct Ans: B
Q.No: 95 Which of the following method is typically used to pasteurize the packed milk distributed in the market?

fAefafad & @ e Al &1 gaer 3HdR W a6k & AdRT 3 qu@! IEgdhd = & fau fhar Srar
&?

A UHT system UHT 9oTTeir

B LTLT system LTLT 9oTreir

C HTST system HTST JuTreir

D Sterilization S€ITHIOT

Correct Ans: C
Q.No: 96 Which of the following is irrelevant to cleanmmilk‘production?
(A) Washing udder with iodophore (B) Discarding foremilk'(C) Not using hooded milking pail

fAFAff@d # @ i Faoo g 3cues & Qv JyEs g?
(A) 2T T 3SR & €T (B) BRFAgeh I FFTAT (C) §5 G GoF ITell STocT T ITAT o HIAT

A Only (A) hael (A)

B Only (B) Shael (B)

C Both (B) and (C) &=T (B)3iRm(C)
D Both (A) and (B) GlsiT(A) iR (B) C

orrect Ans: D
Q.No: 97 The idylliéiculling percentage per annum per cow should be; 9Td IMT 9fa ay quc ShaeT &1 &feler

gfaerd gl damey;

A 5%

B. 10%

C. 20%

D. 30%
Q.No: 98 As we know, milk is produced by the female cale(cattle). What is the other name used to represent the
“milk-producing female cale”? ST T &H SEId 8, Y &I 3cUleel HIGT ol GaRT fohdl ST &1 "qY der &del
aTell AIGT el & YATATtcd e & TU SEAAT AT ST aTell qERT o1 &RT &2
A Cale husbandry el qR[dTel=l

A. B Draught animal #&lET S=Ta)
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C Milch animal & 99[
D Animal husbandry 9R[dTefeT
Correct Ans: C
Q.No: 99 The average life span of Tharparkar cow is: RURE T &7 HTd Sfad Fred gl
A 25 years 25 a¥
B 23 years 23 @Y
C27 years 27 a¥
D 20 years 20 a§
Correct Ans: A
Q.No: 100 The Perfect environment temperature to achieve maximum yield from dairy cows can be: 33t
I F ARARIA 3UST IIed FA & T T gAERONT dT9HATT 8 dohell &
30-35°c
5-16°c
17-24°c
D. 25-29°c
Correct Ans: B

0w >

Q.No: 101 Which enzymatic reaction(s) are highly relevant to thef@fficiengy of nitrogen-based fertilizers? sTger
A IMTRA 3T AT gaTdT & folw &l I torsafes gfafeer icafas afies g2

A Urea gR3m

B Ammonia oxidation 3@faT 3fTeriTeRoT

C Urea and Ammonia oxidation IRAT 3k AT, SifeRdIHoT

D Ammonia reduction 3/ fa=ar 399
Correct Ans: C

Q.No: 102 Which of the following is a multinutrient fertilizer? fArafaf@a & & FlT v sgAYH 3R g ?
A Superphosphate FIHIEhe

B Muriate of potash YT 3Tt reier

C Monoammonium phosphate AN TH Brehe

D Ammonia 3&AIf=ar

Correct Ans: C

Q.No: 103 Foliar fertilizersiare directly applied to: 9uT 3dTei I HY R SAIMAT AT gl

A Leaves of plantsgi€ier gfaar

B Stem of plants @&l &T o=l

C Roots of plants Gitil Fr 315

D It can be applied anywhere 38 &gl 8 o[ fohaT ST Hehell &

Correct Ans: A

Q.No: 104 Which of the following statement(s) is/are not correct with reference to fertigation? eI & Tesr
# Aeafaf@d & & i T/ FUT T el o/a?

A It is inferior to conventional or drop-fertilizing methods. Tg IRURSE AT 3F I-Heifaterdr Al & fAeT gl

B It is injection of fertilizers Tg 3dhT FT SAFAT &

C It reduces leaching of chemicals into the water supply. Tg dlsll T 3Mqfd # TE™AT 1 AT A FA HAT

D It is related to chemigation. Ig AT & TeAd gl
Correct Ans: A
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Q.No: 105 Which unstable compound is formed in the first step of the hydrolysis of urea using urease and how

much ammonia is produced after complete hydrolysis? IRAT & gregl [T 8E & Ygol TXOT H JRAT &1 39AreT
T HisT T AT QA g7 § 3R U7 g159t AfdE & arg fovaan sm@fear scdest giar g2

A Acetic acid, 2 Tfafes 315, 2

B Carbamic acid, 2 F1efRe& 315, 2

C Formic acid, 1 ®if&e 31, 1

D Acetic acid, 1 tRafes 315, 1

Correct Ans: B

Q.No: 106 Number of the oxygen atom(s) present in Pyran is/are9raRT=l(Pyran) & &g el WRATIL3T T
&1 Ble-

A One Tsh

B Two &r

C Three diaT

D Four X
Correct Ans : A
Q.No: 107 2404517 Lecithin is found in AR 9T Srar &

A Vacuole Rfdenr

B Mitochondria #ATSeIehl =g
C Cell membrane HIfeT Breel

D Cytoplasm HTSeIcarsH

Correct Ans: C

Q.No: 108 Muscular weakness is associated with the deficiency ofdefiar geierar fonerehr el & Heifere g2
A Vitamin A f3eTfa A
B Vitamin D fderf@sT D
C Vitamin E faerf&eT E
D Vitamin K fderfa= K
Correct Ans: C
Q.No: 109 Amino acid is basic in‘fature when3f#HIAT 3Fel &TRIT Yhid T gl § oo
A Number of aming.andiearboxyl groups are equal 37#isT 3R Freffraer HHgH I HEAT S gl &
B Number of amine.gratip more than number of carboxyl group srefiFaer e $r TE&Ir ¥ 3AFH IHA g
N JEIT gl &
C Number of carBoxyl group more than number of amino group 31Hieil WHg &I HEAT A 31fU% FEflFde THg
N JEIT gl §
D It does not depend on the number of amino and carboxyl group & 31T X Fefferder FHg H AT T
e g el &
Correct Ans: B
Q.No: 110 What is the chemical formula of ethyl alcohol? TS 3ewhlger S AT I FAT §?
A. C3H;OH
B. C4HsOH
C. CHsOH
. CyHsOH
Correct Ans: C
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Q.No: 111 What is another name of urea? gﬁ'ﬂT T QT oATH &7 %’?

A Propellants YOTIGeh
B Carbamide FIETHATSS

C Graphite ?fl'cﬁlg'c,’
D Nitric Acid T8 Tfas

Correct Ans : B

Q.No: 112 What are the major important component of fermentation process? v FfehaT & RESEC) .Hs(-qq‘\uﬁ Ych
T g2

A Sugar AT

B Nitrogen a‘-|'|3'g'j Slel

C Carbon &TeleT

D Urea ?Jﬁ'&T

Correct Ans: A

Q.No: 113 Which of the following acid does not form anhydride? TFA{Af@ANT & PiT TT 3ol TAGSST S8 gl
AT 8?

A Formic acid Bifde Tfas

B Acetic acid Tfafes tfas

C Propionic acid EIERIGE IR

D n-butyric acid Uﬂ-@ﬁﬁ? s

Correct Ans: A

Q.No: 114 Oils and fats are bad conduétors ofder 3T IaT Faes gw_tﬂﬂiﬁ %—
A Only Heat hdol FSAT

B Only Electricity Shdel ﬁ?\:{_[ 5]

C Heat and Electricity beth QI SsAT AR ﬁa;g d

D Neither Electricity norHeat =T ar AT AT ar ﬁ?\g o

Correct Ans: C

1
sec ATt

secp—

ano. 115 What is the simplified value of

1
SeCA+1 C
/MT dk ljyhd'r eku D;k gS
cosecA - cotA
cosec?A
cosecA + cotA
D. sec2A
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Q.No. 116. If sin 8 + cosec & =V3, then the valtue of sin® @ + cosec® @ is;fnsin @ +cosec & =V3, rks sin3 8 + cosec® 0
dk eku gS

.0
. V3
3V3
-1

oo wp

Correct Ans : A
Q. No. 117 If tan?a= 1 + 2 tan?B, then V2 cos a- cosP =?
A. 0
B. B-1
C. Coo
D. D1
Correct Ans : A
Q.No: 118 sin 750°=
A 1
B. -1
C %
D. -1/2
Q.No: 119 sin 25° + cos 115° =
A. 0O
B. 1
C. -1
D. 1/v2
Q.No: 120 If A=sin37°, B =3 cos 73°.c0s53°; then.
;fn A =sin37°, B = 3 cos 73°.c0s53° , rks&
2A =B
3A=B
A=2B
3B=A
Correct Ans: B

tan48°+tan 12° i
1—tan48%+tan 129

dk eku gSa

Q.No: 121 The value of

tan 48%+tan 12°
1-tan 48%+tan 12°

A. 1/N3
B. v3
C. 2v3

D. 1
(cosec23°+sec67°)(cos67°+sin23°) .
.No: 122 The value of
Q sec36° sin54°+co0s33° cosec57°

cosec23°+sec67°)(cos67°+sin23°
( t5ec67)( ) dk eku D;k g5
sec36° sin54°+co0s33° cosec57°
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A 2
B. ¥
C. 1
D. Y
Correct Ans : A
Q.No: 123 What is the value of cot(58°+0)-tan(32°-0)-sec?77°+cot?13° ?
cot(58°+0)-tan(32°-0)-sec?77°+cot?13°dk eku D;k gS&
A. 0
B. 1
C. 2
D. -1
Correct Ans: D
Q.No: 124 If cos33° = A/B, then find the value of cosec33° - cos57°
;fn cos33° = A/B, rks cosec33° - cos57° dk eku Kkr dhft,

AZ
A
BVBZ-A2

B.
C.

D. BVAZ-B2
Correct Ans : A
Q.No: 125 The mean of 22 observations is 35. It was later discovered that 16 and 24 are misread as 31 and 42. Find

the correct mean. 22 3/dellehall ST FHTATAY HATET 35 gde@lc H Ig 9dT I fob 16 3T 247 313 2%

T FH ITAd THST ST &1 TEY AT AT, Hel

A 32

B 33.5

C315

D34

Correct Ans: B

Q.No: 126 The mean monthly salary of 15 workers at TCP is Rs. 18000 and the mean monthly salary of 25 workers of

HCR is Rs. 12000. Find'the miean of the combined monthly salaries of all 40 workers EIETAT H 15 HAaTRAT &1
3itaa A AdI®118000 31X TIAR & 25 FHARAT #1 3AT ATRAF Ad=T T| 12000. T3 40
HAATRET & HIeFd AT dcfel &l AT AT HIToIC|

A Rs. 14250 %.14250

B Rs. 16500 %.16500
CRs. 17750%.17750
D Rs. 12250%. 12250

Correct Ans : A

Q.No: 127 The range of 11,9, 18, 35, 42, 26,4, 19, and 31is? 11, 9, 18, 35, 42, 26, 4, 19 3R 31 AT F=r %’?
A42

B4
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C26

D 38

Correct Ans: D

Q.No: 128 Average of present age of A, B, Cand D is 15.5 years and the ratio of the sum of present ages of B and C
together to that of A and D together is 14:17. If D is 4 years older to A, then what is the average present age of A, B

and C? A, B, C 3R DT acidAleT 3 &7 AT 15.5a¥ § 3R T &Y BT CH AT Y HT J9T AT A
3R DT IAAH 3G & AT T I 14: 1781 I D, AF 4a¥ 37 &, Ad A, B3R CH AT acA=T
3Y TRl &2

10(2/3)years
14(1/3) years
17(1/2) years
9(2/3) years
Correct Ans : B

Q.No: 129 The average of 37 consecutive odd numbers is 63. What is the,fourth largest number? 37 shHATITd

v T3t &1 3Ed 631 iy g9 93 TEAT 4T 87
A 9393

B 9595

C9797

D 9999

Correct Ans: A

oS0 w>

Q.No: 130 Find the Mode of the following data:

X 32 14 59 41 28 7 34 20
F(x) 8 4 12 8 10 16 15 9
fuEufyflkr izsN.k dk cgqyd D;k gS

X 32 14 59 41 28 7 34 20

F(x) 8 4 12 8 10 16 15 9

A 59

B 28

ci14

D7

Correct Ans: D
Q.No: 131 Sapna has 30 notes of ten rupees, 16 notes of twenty rupees, 39 notes of fifty rupees, 22 notes of a

hundred rupees and 10 notes of five hundred rupees. Find the mode of the number of notes. @9=IT & 919 &g
TIU & 303, S IUT & 16 A, TIMF FIT & 39 7Ae, @ $UT & 22Alc 3R 9w Gt 9T & 104

g1 et fr =T @+ v Sgefeh Ad Hifo|

A 500

B 117

C50

D39

Correct Ans: D
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Q.No: 132 The empirical relation between mean, median and mode is: HTEY, mfeTeT 3R EET%F & oa=T

A mean + median = mode

B mean = 3 median — 2 mode

C mode = 3 median — 2 mean

D mode = 2 median — mean

Correct Ans: C

Q.No: 133 The runs scored by Sachin in 11 matches are as follows : 12, 98, 46, 132, 54, 50, 74, 99, 111, 36, 62.

Find the Median of his score. Gfdel GaRT 11 #aT H §ATT T T 3 YR @ 12, 98, 46, 132, 54, 50, 74, 99,

111, 36, 62. 3Th T & ACIHT AT HITAT

A 62

B 132

C50

D12

Correct Ans : A

Q.No: 134 The mean of 6 observations is 6.5. If five of the observations are,8, 9, 7, 11 and 6, then find the sum of

median and standard deviation of the observations. 6 Y&T0T &, AR 6.5 %’I gie g geyuT 8,9,711 IR 6

£ ar 9eTolt & AT 3R AS [T 1 ARG @lToT|

A8.5

B10.4

Cc11.2

D9.6

Correct Ans: B

Q.No: 135 The quartile deviation 0f2,,12,.19, 17, 52, 11, 32, 23, 25,12 and 39 is: 2, 12, 19, 17, 52, 11, 32, 23, 25,

12 3R 39T T Tl

All

B12

c10

D14

Correct Ans: C

Q.No: 136 The nUmerical value of mean deviation about the median for the numbers 12, 13, 16, 10, 8 is how

much less than median of the numbers. TEAT3T 12, 13, 16, 10, 8 ToT mfegar & e Arey [Aadd &1

H&IATcHS AT G & ATETS T el A gl
A9.8
B12
Cl14
D12.2
Correct Ans : A
Q.No: 137 log (cotl1®) (cot2°)......(cot89°) is equal to:
log (cot1®) (cot2°)......(cot89°) dk eku gSa
A o
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B. 1
C. 0
D. -1
Correct Ans: C
Q.No: 138 If3sin@ =2 and ‘©” isin 2" quadrant, thentan®@=__
;fn 3sin@ = 2 vkSj O fnrh; prgFkkZa’k esa gS(rkstan@=__
A -2/V5
B. 2/V5
C. 2/5
D. -2/5
Correct Ans: A
Q.No: 139 1f 180°<@<270° and tan® = 5/12 then cot@+sin® =
;fn180°<O®<270° vkSj tan® = 5/12 rks cot@+sin® =
181/65
131/65
125/65
108/65
Correct Ans : B
Q.No: 140 The force which holds various constituents (atoms, ions, ete)itogether in different chemical species known as

chemical bondsare  innaturedg deol St Ifes Tafas auit & R[/ffeT geat (CI'{?ITU;Bﬁ,}ﬁ 3-1'I'<’3I?-ﬁ,a‘-lsf
fE) T Toh A W §, ol TS FE & &I STl Sar 8, 9hfd # g B

A Attractive 3ThYeh

B Repulsive IfdeRe

C Detaching 3TeldT

D Stagnantﬁﬂ'{

Correct Ans: A

Q.No: 141 2405050 Choose correct statement regarding electro-valency in electro-valent bond?
(A) Numbers of electrons gain

(B) Numbers of electrons lost

(C) Numbers of electronsrshared

deg o TS S H deg o HASThdl & Y & FEl HYUA Fai?
(A) ST o oIfe’T & g&ar

(B) So¥eFeT o gTfey I Far

(C) TT3TT U 31T Solarel AT I HEAT

A Only (A) hael (A)

B Only (B) Shael (B)

C Both (B) and (C) &=t (B) 3iX (C)

D Both (A) and (B) &l=T (A) 3iX (B)

Correct Ans : D
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Q.No: 142 Which types of solvent are capable of dissolving ionic solids?

A: polar solvent

B: solvent with high dielectric constant
C: non polar solvent

D: solvent with low dielectric constant

T g & ATIF 3™ATAS ST &l el H T&TH 8ld 67
A: g e

B: 3T Wy o f&ie & Ay fdemas

C: 3 e

D: faF Wrdeg a s & Ay fAemas

A (A) and (D) (A) 3R (D)

B (B) and (C) (B) 31 (C)

C(B)and (A) (B) 3R (A)

D (D) and () (D) 3R (C)

Correct Ans: C

Q.No: 143 Which of the following are not part of electrovalent bond= fadailcidd & & @i Selael deic dic8 &7
fear 7T 8-

A Cations Y11

B Anions F U1

C Compounds with very high melting point ag?r 37T Icldieh arel Alfah

D Bonds in carbon-tetrachloride FTIA-CCl FeAlISS & §o¢T

Correct Ans: D
Q.No: 144 In HCI, bond formed is
While in C;HCI, bond formed between both calbon atom is
HCl es cuus okyk ca/kmygksrk gS
Tkefd CoHCI, esa nksauks,dkéZu fjek.kgvksa ds chp cuus okyk ca/k gSa

A Single covalent bond,electrovalent bond Tehel eSS ¢, fa’c‘\g JGASTH a¢T

B Single covalent bond, double covalent bond Tehel TgHATeTh S, Z‘.:% qgadeleh a4

C Coordinate bond, electrovalent bond HHead T (HIfSeic a4), fa’c‘\g d g6 9y

D Coordinate bond, double covalent bond ¥H=ad §¢ (Fifsac &), gfd Tgadiers Iy

Correct Ans: B

Q.No: 145 Formation of ionic bond takes place when a atom transfers one or more electrons to a atom
3T S &7 AT d9 giar § oI Th TIATY] Teh AT Teh & 31f8h golarel &t WA A
FUHATART AT &

A Metal, non-metal ‘EII'IFOT, 3-T€I'IT:|3'

B Non-metal, metal 3787, €1
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C Metal, metal €Tq, 9T

D Non-metal, non-metal 3797, 34T

Correct Ans : A

Q.No:146 A distance between the nucleioftwo _ atoms in a molecule, is turned as bond length Teh 3-1'01
A QAR & AHH & & B Gl H Y odS F & H ded A1 ST §

A equilibrium, unstable FT:I)FIFT, TR

B equivalent, unstable HET, IR

C equilibrium, bonded Fi?:lfvl?-r, E\3)

D equivalent, equivalent GHRET, HHDE]

Correct Ans : C
Q.No: 147 Two elements A and B have electronic configurations as A= 21, B = 27, What type ofibond will form between

them? &l deal A3 B& Soidel e faeard A=21,B=278, 3% a1 [T SR HT a8 TA9M?
A Covalent bond TgddTeleh §&

B Coordinate bond TH=ad ¢ (Hifssic %)

C Electrovalent bond %ajgr JEgelr §Y

D Covalent bond and coordinate bond Hg&dSIeh ¢ 3R FHeAH, I (FIfsdc %)

Correct Ans: C
Q.No: 148 Match following

l. H,0 (a) electrovalent bond
Il. NH4CI (b) covelent bond
M. NaCl (c) coordinate bond

IV.  Carbon tetra chloride (d) covalehtibond

fuEufyf[kr dk feyku djsa

l. H,0 (@) folgrla;ksth ca/k
II.  NH4CI (b)lgla;kstd ca/k
M. NaCl (€) leUo; ca/k @ dkfMZusV ca/k
V. Carbon tetra chioride (d) Igla;kstd ca/k
2 3 4
b c d
1 2 4
d b a
1 2 3
b d a c
1 2 3 4
d c a b

Correct Ans : D
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Q.No: 149Find odd one out. fa#=T & faws ard HIfFT|

A Carbon-tetrachloride TeeT ¢l FARISS
B Nitrogen o‘-||3§| Sle
C NaCl TaudITe

D Carbon-dioxide hTee] SIS3ATFHISS

Correct Ans: C

Q.No: 150 Which of the following is not a physical property? feITeiad H T Pla-ar & FHifds 0T Ter 82
A Melting Point ITcleATh

B Boiling Point FTUTTah

C Solubility ferar

D Reactivity Ffcfsharefierdr

Correct Ans: D
Q.No: 151 Which of the following is the early stage of stem branching? FaTeliGd & Pl dT M@IHT H Fe

HI YRIAS TOT 82

A Exogenous Tl T T

B Endogenous 3idea

C Superficial Idgr

D Party superficial and partly endogenoustﬂﬁ Tder 3RS & F 3idaad

Correct Ans : B
Q.No: 152 What is the quickest method of Breeding a plant? 9IgT Wolelel sl HEH ool AT &7 §?

A Introduction IR=T

B Selection TdeT

C Hybridisation JeoT

D Mutation Breeding 3R ToTeTet

Correct Ans: D

Q.No: 153 Somatic hybridization is accomplished through &% HAOT & ATEIH & gred fohar Srar g
A Grafting JITTo&aT

B Conjugation H'{IDTFI'H

C Protoplast fusion FTeIcaEe ol

D Recombinant DNA technology JoT: HAGTH TAT ‘;ﬁa?ﬂﬁl'cﬁf

Correct Ans: C

Q.No: 154 Where is Sugarcane breeding research institute is located? eIl SloleT 3-1?3?:[?11?[ TEATT %kf Taa &
A Uttar Pradesh 3d¢ 92T
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B New Delhi 7S f&oalr
C Tamil Nadu Hﬁ?—lﬂ'l’g’
D Madhya Pradesh #ET U¢2r

Correct Ans: C

Q.No: 155 What is the Control unit of the cell is - SITIRT T IO 3@?‘{ g -
A Nucleus =TT

B Cell wall 9T aTer (ShifRrehT AT

C Cytoplasm HIAFT g

D Ribosomes JgaGIH

Correct Ans : A
Q.No: 156 Which of the following are the two basic phases of the cell cycle? [T @q H & i PIfAPT T & ar

giardr =T g2
A Mitosis and meiosis HHEAT TetTsTer 3R Hﬁ'ﬂ?ﬂ' IEEIEC)

B Mitosis and Interkinesis fAeIaa 3R sciwEaAaa
C M phase and interphase TH TIU] 3R $C{Chd

D Phases DG1 and G2 TRUT DG1 3R G2

Correct Ans: C
Q.No: 157 Where Anemophily type of pollination isfound? TsilHAITthell bR T URIATOT gl ITAT ST g7

A Vallisneria aTfergaiiar
B Salvia HTfeaar

C Coconut =TTl

D Bottle brush Stdel 72T

Correct Ans: C

Q.No: 158 Where does wind pollination happen most easily? 9del YITITUT TS AR & RTV E)IHT %'?
A Lilies forelr

B Legumes HierT

C Grasses HTH

D Orchids 3T

Correct Ans: C

Q.No: 159 Which of the following is not correctly related to plant breeding? eIt &d #H q P 9€T Tl I
Tefad =gl g
A Helped to increase the yield of crops Ol T 39T del H Heg I

B Purposeful manipulation of plant species Q€I T gafaar &1 BE?QEI'CJPT FEUTy
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C Gives disease-resistant plants {97 Ffare qiey ¢ar g
D Not suited for cultivation @ell & foIT Iugerd w1gT

Correct Ans: D
Q.No: 160 What is the technique of micropropagation? {&&H YgeieT I deheileh AT &7

A Multiple root production TehITHeh && 3cdTgel

B Somatic embryogenesis ?.)\'%EF S{\U'IGI?-I?-T

C Growth of micro organisms on culture medium FREI‘:T% ATEIH 9T geH Shar &r agﬁr
D Multiple shoot production and embryo rescue Tl RIE 3cyrceT 3R Si;UT EEIC]

Correct Ans: B
Q.No: 161 Which of the following is undecided in classical plant breeding practices? [AFafeli@d H & id AT

qIed YSlelel AT H AT FAET &2

A The hybridisation of pure lines %ESI @3 &7 GHIOT

B Artificial selection of plants iy T Eljﬁﬂ qgod

C Desirable traits of higher yield 37TH 39T & ST A&T0T
D Molecular biology 3ToTfas Sfia fa=TeT

Correct Ans: D

Q.No: 162 Where can Haploid plantlets be produced?%‘VeﬂS's' 'v(‘iiCO\iC:'H I 3c4iced elwsT fhaT ST FehaT &2
A Pollen culture YTdT HT—cfﬁ

B Cotyledon culture SISTa= FIE_"T%

C Embryo culture 30T H?ﬁfﬁ

D Meristem culture ARECH H@jﬁf

Correct Ans: A

Q.No: 163 What are the repeadting units of nucleic acids? qu%w tfaE fr Efl%Tlé’ SiTel arelr $<=h|$¢IT FT 8?2
A Phosphate molecules HIEhC, 3191

B Nucleotides EWE‘IB‘S’

C Bases 343\?

D Sugar molecules AT & 3-TUI

Correct Ans : B

Q.No: 164 What is the name of outermost boundary of the cell? ITAHT I JaT E!'I%ff AT FT ATH FAT %‘:?

A Plasma membrane TelTaHI @("él
B Cytoplasm ShITRIRT ged
C Nuclear membrane 37T0T{deh @cvél

D Mitochondria J=|I$Efl?=ﬁvl io-§?JII

Correct Ans : A
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Q.No: 165 What is the second law is of law of Mendel? HZel T oo IGRE] Shlelel AT g7

A Segregation JUFhI0T

B Dominance YT
C Independent assortment Tadd Hhold
D Polygenic inheritance CICIcICED ?QW

Correct Ans: C

Q.No: 166 What is the transmission of characters from one generation to the next, that is from parents to offspring is
knownast’iﬁtﬁ@'ﬁ@ﬁ%ﬁ,mﬁm—%@ﬂmﬁaﬁﬁ*mﬁwm%

A Genetics maafﬂﬁ

B Heredity gemTfa

C Mutation 3caRade

D Recombination gmﬁvfla?r

Correct Ans : B

Q.No: 167 Pollen from one flower is carried to the stigma of another flower.ef the’'same plant or a different plant of the

same species in: Teh el & TTET &l 38T G & @Y Fool AT 3T Soflied & Teh 3Telel GieT & afciehrar deh of
ST ST &

A Self Pollination ¥ YXTIT0T

B Cross Pollination YIX' 9XTIT0T

C Fertilization foS=ret

D Diffusion IdX

Correct Ans: B
Q.No: 168 Intine of pollen grain composedof: GRTFTRUTT &l 3cd: HUT F TAT Bl &

A Lipid and protein s 3 9ida

B Cellulose and Pectin @H@E’ 3R afFea
C Pectin and Lignin Sfgcst, 3R farfdareT

D Lignin and cutin foif3stet 3R a’ﬂjﬁ'ﬂ

Correct Ans : B

Q.No: 169 The process of transfer of hereditary character from one generation to another is known as ? Ei'%ﬂ?flﬁ
IRA & Teh G @ gl NI & FAAROT AT GihadT Hgellal & ?

A Genes SiTeT

B Mutation 3cqRadel

C Variation 3dX - d¢ld

D Genetics %ﬂﬂfﬂﬁ

Correct Ans : D
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Q.No: 170 Breeding crops for improved nutritional quality is referred as: SgaX 9IYoT I[oTar F T yaadd wEar @

Hel ST &

A Biomining STATATS 4T

B Biomagnification g EYe

C Biofortification STITRIfE fthehereT
D Bioremediation Sifdeh 399X

Correct Ans : C

Q.No: 171 A stem nodulating green manure crop, sesbania rostrata is photoperiod sensitive crop, to overcome this BARC,

mumbai developed which mutant variety? g% TG, I Hdel, TS AT fR—?AET U dell AlSeT HleaRAs
HacAMNeT BE &, 5H &l T Fel o [T dUHRE, Hag o hled 1 ScqRad g, @i Hre

A Yghu I8

B TSR-1 ETUH3T-|

C BAR-II §IX-II

D APJ-l TUISH-|

Correct Ans : B

Q.No: 172 The process by which genetic variation are created through,changes in the base sequences within genes isdg
fshar T g@RT SfieT & #ficR MR 37gshal & IREde)S ACTH & T Heeial Scqeat gl &-
A Plant breedingtﬁ’ZIT T UTele] GIYOT

B Interspecific hybridisation 37c: fafrse Tehgor

C Outcrossing 3M3THIT/A

D Mutation 3caRadel

Correct Ans: D

Q.No: 173 Type of cell divisionftakes place in apomixis is: TATATFIT H HT YhR FHT HITADT THTSTA BT g?
A Reductional UTlcHh

B Meiosis Hﬁ?’fﬂﬁ'ﬁm

C Reductional and Meiosis FUTlcHD 3R Hﬁ?ﬂ'jﬁ GG

D Mitosis fAarara

Correct Ans: D

Q.No: 174 Which of the following components provides sticky character to the bacterial cell? i@ & @ i ar
geeh Siaro] AT i Rafar aRT gere wdr §?

A Cell wall @ef dTet

B Nuclear membrane 3T0Tfdeh Sieelr

C Plasma membrane TelTaHT @Wﬂ'
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D Glycocalyx m

Correct Ans: D

Q.No: 175 The law of dominance is applicable in inheritance of: qgiﬁl’ Fr g &1 g & SIEIN g &
A Seed colour in pea #CT H &Tof &l T

B Flower colour in Mirabilis jalapa fRITafora Stemar & q‘z—oﬁ H T

C Starch grain size in pea HCY H T 3T T 3SR

D Roan coat colour in cattles A#AfAAT H AT e T T

Correct Ans: A
Q.No: 176 Among the following character, which one was not considered by Mendel in his experiments on pea?

FATITEd § ¥ g aRT W A o AcX W 39« A6 H [Sar g7 har gr?

A Stem — Tall or Dwarf dell - osT AT sSiedl

B Trichomes — Glandular or Non-glandular T seh\ld-{-l - d(:i’goﬂ g7 a-iTa-i-d(:i’goN

C Seed — Green or Yellow sia - & AT el

D Pod — Inflated or Constricted 918 - pSIRINCI {-ie_lgfl-ad

Correct Ans : B

Q.No: 177 Magnetic flux associated with coil is directly proportional to: e_j;USo‘i\l Eoy §cH gqqﬁq by fohdeh
FATATAT g1l &

A Current flow in it SHH JaTlgd 8RT &

B Length of coil 33033?[ $r FIEﬂ'é &

C Resistance of coil iff’g?ﬁ' & gfader &

D All of the given option fGT 31T TafY faeT

Correct Ans : A
Q.No: 178 In the given circuit the currentthrough the battery is:

BLY
A

1.20

G

feT v aRuy & d<q @ IR arer varE &

RE
A A A

1.20
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AOS5A
B1.0OA
C1l5A
D2.0A

Correct Ans : A

.No: 17 . . . s =
(224%0821279 Four resistance are connected in circuit as shown. The electric current
through the 4Q and 6 Q resistance are respectively:

I g

20v

fe@me a1v AR Aide A 9 9T F gU 81 4Q R 6Q & ufady &
AreaA § fagad vaw &A: &
oL

—_| T+

("¢

20v
A2Aand 4A 2A 3R 4A
B1Aand2A 1A 3R 2A
ClAand 1A 1A 3R 1A
D2Aand 2A 2A 3R 2A

Correct Ans: D

Q.No: 180 The Sl unit of magnetic fluxi§ the . IeehId g I S| SHIS gl
A Mhow?l%T

B Weber dsX

C Tesla c&ell

D Coulomb hel&s

Correct Ans :B
Q.No: 181 Who among the following gave the proof of light being an electromagnetic wave due to the combination of

magnetism and light? fa&T & fFaer gFschcd 3R ghrer & FIASTT & T & faajag d ﬂﬁ'@lﬂ TRIT giF &1
ST &

A Newton e cef

B James Maxwell Si&T HFadol
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C FaradayavTI?
D Flemingﬁ'ﬁﬁﬂ

Correct Ans : B

Q.No: 182 According to Fleming's left hand rule, "When we arrange the thumb, middle and index finger of our left hand
perpendicular to each other, which direction will the index finger represent? FIfH3T & 1T &1 & ﬁl’qﬂw R

§H AR JTU ET & 375, AT IUT dofell I Th g & ol9dd Jaedd &d § df doiell g TRY $r
f&em =1 gafwam?

A Force on the conducting wire dTeleh dR UX ofdlal dTel &l

B Current flowing in the conductor wire TTeldh dX H YaIigd YRT

C Magnetic Field W aT

D Magnetic Flux gd—clel'w\lq Yolrd

Correct Ans : C
Q.No: 183 Which of the following statements is not correct? T 7 P40 FTe0 QT(?[ Fré‘r %’?

A Minimum distance of clear vision is 25 cm TISC ?{ﬁ' I oqoldH E{ﬂ' 253 @?ﬂ' %’

B The image/jpg of the object in the eye is formed on the Cornea Fal H qd <l gfafsrs sife=ar W s9a g
C The human eye has a convex lens. HTdd AT H 3dd o9 ?R'-IT ?’

D The image/jpg of the object in the eye is formed on the retila a3 & a¥rg &1 gfafee s AT W &SIl §

Correct Ans: B

Q.No: 184 A person uses -2 diopter glasses, what'type ofivisual impairment does he have? T SIfFd -2 ST &I
AT YT T &, 38 ohE TR HT giSa@m, &?

A Myopia G LT Qﬁ' gy

B Presbyopia ST Q‘I:ecf AL

C Cataract HIfqaTfeg

D Hypermetropia qI QfQ AL

Correct Ans : A

Q.No: 185 When the finalimage of the astronomical telescope is forms at infinity , what will be its magnifying power if
the focal lengths of the objective and the eye lens are f, and f. respectively ?

Tke [kxksyh; nwjn’khZ dk vafre izfrfcEc vuar ij cus rks bldh vko/kZu {kerk D;k gksxh ;fn vfHkn"';d vkSj usf=dk ysal dh Qksd|
nwijh dze’k f, ,0a f. g5

M = f,+fe

M = f,-fe

M =-(fo/fe)

M = -(fet+fo

Correct Ans: C

Q.No: 186 Which of the following can be the cause of myopia? AT & Fla a1 [se qﬁ' &Y &I HRUT vl %’?

A Increase in thickness of eye lens 13 o/ F T 'Fﬂt'lé' d¢ SIler
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B Increasing the focal length of the eye lens AT oI T HIihd Z‘{ff FH g ST

C Increase in radius of eyeballﬁ'ar Mol I BFaar & EI}‘"\@T ET ST
D Reducing the focal length of the eye lens A o/F FT BT Z‘@ A agﬁr gl ST

Correct Ans: B

Q.No: 187 Which of the following can be/are the causes of farsightedness ?
fuEu esa dkSu Ik& Is nwj n'fV nks¥ & R & Had &

A Decreased thickness of eye lens AT o/ F Fr ?Fﬂ'c’l'é’ SH ET ST
B Increase the focal length of the eye lens 3T oI &I By E@ A ag:ﬁr
C Increased diameter of the eyeball A Icleh T TH H EI"?.‘"\T?\-T HESIGH

D Decreased diameter of the eyeball A JNcleh T <TTT H AT 8 oAl

Correct Ans: C

Q.No: 188 Which of the following statement is not correct about simple microscope® Te&st H PiT T FUT T
qeHeRlt & HeasT 7 | 78T &2
A A convex lens is used in simple microscope. Gl H\&-ﬂﬂ'?ﬁ' H e 3™ gFeT fRar Sar g
B The focal length of the convex lens used in simple microscope is very largen& ol H\&-ﬂ'c{%ﬁ p= 9gd 3cdel o T
B G S8 318 gl &

Pl
C The size of object in simple microscope depends on the anglesef Vision made by it on the eye. el H\&-ﬂ?{?ﬁ p= ER-_ST
T HTHR 3% ¢dRT A7 T FAY A HIoT 9 FRR Har g

D Magnification power of simple microscope =4+ D/f
AR geHael H1 amae ewar 1+D/f Bril

Correct Ans: B

Q.No: 189 Which of the following statéments isihot true for a compound microscope? oot & Pl T@T FUAF H’CIQEI*?T
qeAcRlt & fT &l =81 g2

A Compound microscope has two lenses a'ga»—cr H\&-ﬂ?{%ﬁ' A od@aag

B Both lenses are convex lenses@lal i 30 ofF E’l?f %

C Both lenses are concave lenses &l ofF 3ddel ?I?f %’

D The focal length of the objective lens is lesser than that of the eye lens. WQW o9g fr mRg E‘@ AT o T A
A gl &

Correct Ans: C

Q.No: 190 Which of the following statements is not correct with respect to the telescope? cforepg & geg H
fArafaf@a & @ Fid @1 FUT FE A8 g2

A Telescope has two lenses. TERIT 7 & o ?I?f g’l

B Both lenses are concave lenses. @il o 3ddel o gl
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C The focal length of the objective lens is greater than that of the eye lens. afﬂq%w 9T Fr By E@ AT ofF &

Blehd gl & 38 g Bl

D When the light image is made in Infinity, the length of the telescope L = f,+f.
S Y &1 Ufafdd a7 §9ar & xaF @ dars L = fo+fe
Correct Ans: B

Q.No: 191 Which of the following statement is not true for the Human eye? foe=1 H FiT T FUT ARG a7 & v
TEr e §?

A All the image/jpgs of the eye are formed on the retina. A5 o T gfafass AT W d9d %’I

B The conical cells present in the retina are sensitive to colours. YT # 3ufEUd AR HIfAHT W & fow
Tacarefer g &

C The circular-shaped cells present in the retina are sensitive to the intensity of light. If&=iT &, 39Ud ad + HHR
T AfRARIT gerrer H Naar & T dagaeier gdr g

D The ability of the eye to adjust the focal length is called the Accommodation of the'eye. EE] CAaRr Blhd Z‘,:ﬁ' Fr
FARNTIT F T &THAT AT T HT &THAT Fgodl o

Correct Ans: C
Q.No: 192 Which of the following statement is not correct? e ST ar e FI'@I’ F—Iﬁ' %’?

A Myopia is corrected with the help of a concave lens. IGET qf?d' alY &7 TaRUT 3/add o g $ir Helddr o R
STl &

B Farsightedness is corrected with the help of a convexlens. ¢ qf?d 3y & fHaRT 39 o HT FEgrar ¥ fhar
STl &

C Astigmatism is corrected with the help of a cylindrical lens. aﬁﬁfh_cﬂ FI THARUT SR ofF &l Tgadr &
foram STrer &

D Presbyopia defect is correct@d with'the help of a Plano - convex lens. ST q@' aly &7 fHaReT FAdede o/ g &r
eI ¥ R ST §

Correct Ans: D

Q.No: 193 Centrifugal pump transports liquids by converting ? 3Yehl 9Fq gRafda #& gal 1
gRagel T g7

A Hydrodynamic energy into kinetic energyiﬂé"ﬁf SIATIAS Foll i ITfadsT Foll &

B Potential energy into kinetic energyw 3T FT AT Foll &

C Kinetic energy into hydrodynamic energy Tfciet Fal &l 6T$'§T SATIHS Foll &

D Mechanical energy into hydrodynamic energyzl'iﬁiﬁ Zal &l é‘IEST SATTHS Foll &

Correct Ans: C

Q.No: 194 Which of the following statement is not correct? T 7 i ar = 1:@' F@' %’?

A Electric charge was discovered by Benjamin Franklin ﬁ?{ﬁg T 3TA T @ISl SollfAT hahfeled o &l
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B There is a force of repulsion between the same charges @THIT 31T & s§IT JfYUT S 97T &

C There is a force of attraction between opposite charges T 3maer i T 3THYOT T AT %’
D The force between two electric charges can be obtained by Ohm's law 31 & &I& & ar ﬁ?{ﬂ' d 3maelt fr &

oTdTeT aTell aof UTed fohaT ST HahdT &
Correct Ans: D
Q.No: 195 Which of the following statement is not correct? &1 & &9 IO U Q:I'gﬁ' o_-l'gﬁ' %’?

A On increasing the temperature, the resistivity of the conductors increases and the conductivity decreases dT9 gl I
TTelhr FHI IfRTERdT Sl & R ATeehdT Tedr &

B On increasing the temperature, the resistivity of semiconductors decreases and the condugtivity increases dT9 S&Tel

W 3reTarerel SfaRItehar Tedt & 3R =elehar dodr

C At 0°C all semiconductors are condutors
0°C ®R &Y sefareid et B &

D Tungsten is used in the bulb because of its high melting point and low resistivity 3=d Il 3R FF gfaRysar &

$RUT TIECT & 39T Jod H fHam Jam &
Correct Ans: C
Q.No: 196 The resistance of a wire does not depend on which df the following? TRET AR T JTaRIer = & fFg W

freR sIg Far &2
A Volume 3T ded

B Length ?‘I_cﬂé
C Lateral Area 9T?d & 9%hol
D Substance qaliﬁ

Correct Ans: A
Q.No: 197 Which of the following statement is not correct? AFATITRT & O =i T1 I QT(?[ a'é‘r %?

A Ideal ammeter has zeroffesistafice 37eT 37#eT &1 gfauer AT ?IT-IT %’

B The resistance of ad ideal Véltmeter is infinite Teh 37TG2T dlecHeY ol ITaeT 37ad ﬁﬂT %’
C The unit of resistance i$Ohm JTaTeT hr E'Tﬂ'é nT %’

D The unit of capacitor is Henry TEemRa &r $7=FI'§ %’ %?Iﬂ'

Correct Ans: D

Q.No: 198 To get 2Q) resistance using only 6Q resistors, the number of them required is
Pael 6 TR BT STANT HRD 2 FRIY U R & ot S99 9 aead G&T &

A2

B3

C4

D6

Correct Ans : B

Q.No: 199 Galvanometer can be converted into voltmeter: IedaAlde I dieHlct H dcol ST Hohdl %’?
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A High resistance wire in parallel order 31T FfARIYT &I dR AT HH "

B Low resistance wire in parallel order & YIRS T dR AT e &
C High resistance wire in series 31f8% 9faer &1 ar Sofished &
D Low resistance coil in series & JTaRIYT T dR Sofispe &

Correct Ans: A
Q.No: 200 Which of the following statement is not correct? T & i a1 s Q:I'gﬁ' o_-l'gﬁ' %’?

A The wiring in the houses is connected in series order BRI & araRer Aofy ey & T{|3?§T i-ﬂ?f %’
B The frequency of dc is zero f&Se &RT &I 3TIT:(I"1?T Y g

C AC can be converted into DC with the help of rectifier ESCHhRT ahr Haladr T ACH DQH Fcoll ST vl %’

D The unit of conductivity is mho TTeTehdl &I ATIH FaI &IdT &

Correct Ans : A
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